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Miller's Data

Phys103 - Torque Measurements

11/8/2022

Measurement Position Hanger position h (m) r (m) 6 = cos'(h/r)
1L 0.051 0.077 48.5
Loop Center 2L 0.051 0.125 65.9
3L 0.051 0.178 73.4
1L 0.054 0.078 46.2
Loop Contact 2L 0.054 0.126 64.6
3L 0.054 0.179 72.4
Left Side Torque
Measurement Position Hanger position MLere (M) O et Myere (Kg) t. = m.gr;sind (N-m)
Loop Center 3L 0.178 73.4 0.090 0.150
2L 0.125 65.9 0.090 0.101
Loop Contact 3L 0.179 72.4 0.090 0.151
2L 0.126 64.6 0.090 0.100
Right Side Torque
Measurement Position Hanger position IRight (M) Oright Mgight (Kg) 1R = Mergresin® (N-m)| % diff (z. and )
1R 0.077 48.5 0.270 0.153 1.5%
3L - Loop Center 2R 0.125 65.9 0.135 0.151 0.4%
3R 0.178 73.4 0.090 0.150 0.0%
iR 0.078 46.2 0.270 0.149 -1.1%
3L - Loop Contact 2R 0.126 64.6 0.135 0.151 0.1%
3R 0.179 72.4 0.090 0.151 0.0%
1R 0.077 48.5 0.180 0.102 1.1%
2L - Loop Center 2R 0.125 65.9 0.090 0.101 0.0%
3R 0.178 73.4 0.060 0.100 -0.4%
iR 0.078 46.2 0.180 0.099 -1.1%
2L - Loop Contact 2R 0.126 64.6 0.090 0.100 0.0%
3R 0.179 72.4 0.060 0.100 -0.1%

Is it better to measure h and r to the loop center, as shown in the sketch,
or to the part of the loop where the mass hanger makes contact?

Conclusion: No real difference, as long as measured carefully and consistently

IGNORE THIS HoLEe!
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https://stlawu-my.sharepoint.com/personal/jeff_stlawu_edu/Documents/4. Classes/103/torque2022.xlIsx



